N = 0l & At & M A
2018 % 2 13 s HH
SN EEE
HE: X0 OE NUIA HMB(BEY)

Sel: EBH HHH 2Y (e mg)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
Haol 2,702,495 1,778,837 923,658
0 OE MHIA HIZ(HE) 536, 180 475,229 60,951

SEX0 HHY 29 536, 180 475,229 60,951
UMY L o(HAY) 142,205 99,747 42,458
201 Yot 2 bl 37,068 35,610 1,458

01 A= 22l 12,793 11,335 1,458
OFM HiHYTE 162,000 * 9 1,458 0 1,458
401 NEHIL 2 THYI 42,500 1,500 41,000
01 A&l 42,500 1,500 41,000
OHBOAZMA 324 25R2ISLX 2,000 0 2,000
OgmeIAZ MY D 42 20,000 0 20,000
O BOIAZ A LEOR A 9,000 0 9,000
OSBIASAMA B OIAREE 10,000 0 10,000
ITANE L ZUKNBA(HE) 209,063 192,070 16,993
101 91214 bl 31,590 31,197 393
04 JARIRRSE S 31,590 31,197 393

OZE - A0IEFA B2AUR 422
A 9,036,000 * 16.44% 1,486 1,277 209

OFEUSEME 22lR 4H2EE

A 7,952,0008 * 16.44% 1,308 1,124 184
201 Yot 2 bl 153,473 150,873 2,600
02 23Sl 149,610 147,010 2,600
OYEBHA X B2 2,600 0 2,600
401 NEHIL 2 THYI 24,000 10,000 14,000
01 A&l 24,000 10,000 14,000
OMHIIZ2I+NE BY &3 2,000 0 2,000
OB M@)| 2242% #A &3 2,000 0 2,000
FOTRME S Y 15,000 3,500 1,500
301 LB A 1,500 0 1,500
ENTERE] 1,500 0 1,500
OFURASS HHZ DE X & 1,500 0 1,500
FOBOSY NGNS (HADH) 1,671,100 820,000 851,100
2EUS NAWL(BHB) 1,671,100 820,000 851, 100
A2 FOUSAAL (HED) 1,250,000 820,000 430,000
401 NEHIL 2 THYI 1,250,000 820,000 430,000
01 Al bl 1,250,000 820,000 430,000
ONHE == Z&(L=140M) 25,000 0 25,000
O th42 3 bl (L=240m) 33,000 0 33,000
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SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE
O/ === (L-120m) 20,000 0 20,000
ONE1 =2 EH(L=150m) 24,000 0 24,000
OVES 42 bl (L=130m) 24,000 0 24,000
ONE2 =23 H(L=60n) 10,000 0 10,000
OIS H 423 bl (L=150m) 24,000 0 24,000
OR 42 v+ 2 & bl (L=24n) 18,000 0 18,000
OXZ b4 23 bl (L=250m) 29,000 0 29,000
OAIIS OfA =G4 2] (A=22a) 20,000 0 20,000
O£ HUIYX2IE EH(A=240) 13,000 0 13,000
Ot DS 0r2 =& (L=70n) 12,000 0 12,000

2= Hh+2 Il (L=105n) 20,000 0 20,000

OFY =2 EF(L=180n) 29,000 0 29,000
OTHEI i +2 F bl (L=18n) 34,000 0 34,000
OSD =2 ZF(L=100m) 19,000 0 19,000
OSs === H(L=30m) 14,000 0 14,000
OAl'8 b4 23 bl (L=200m) 30,000 0 30,000
OBE 022 M 2| (A=24a) 20,000 0 20,000
O bi+2 Il (L=60m) 12,000 0 12,000
ARE AHESIANL () 421,100 0 421,100
401 A& HI 2= CH b 421,100 0 421,100
01 Al 421,100 0 421,100
OF® =24 =7(L=60n) 28,000 0 28,000
OOAFZ Al & 43 = 2 (L=200m) 20,000 0 20,000
OZE M&+8=7(L=70n) 21,000 0 21,000

S MBOIOS A& 281= 7 (L=1,160m) 21,600 0 21,600

Of1 ZL0I0tS A & 48 == (L=500m) 37,500 0 37,500
OXE A&+ =2 (L=60m) 22,000 0 22,000
ORE M +5H=7(L=120m) 36,000 0 36,000
OOZE43H& 43 ==(L=80m) 32,000 0 32,000
O&BABE 4= (L=100) 36,000 0 36,000
OBE A A 43 =2 (L=70m) 28,000 0 28,000
O8X43& +3=2(L=110n) 35,000 0 35,000
OZ2l4st& 4= (L=200m) 30,000 0 30,000
OBAZE 4= (L=60m) 25,000 0 25,000
OF21 H&281=7(L=60m) 24,000 0 24,000
OBH2HE Al & 43 =7 (L=60m) 25,000 0 25,000
HASSHTAE Bl 27,354 27,145 209
HASSTAY N - 2 27,354 27,145 209
HASSWAZ 2P B 27,354 27,145 209
101 124 bl 10,522 10,313 209
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HE: BHLABAE D
Sl BFSITAIR )

- RN 0l & o p/E-F

04 JIZH 22 10,522 10,313

ST 2T 9,036,002 + 16.44% 1,486 1,277

HH2AHY (HADN) 467,861 456,463

SIEETTIEESI=D 118,993 107,595

=2 (ZEe) 118,993 107,595

405 XH&H 3 S b 14,393 2,995

R 14,393 2,995

OARS D 6.598 0

~X 20| X 1,820 0

“NE A 260 0

-3lo/8 3,310 0

—sEeR 840 0

-slo|g T 368 0

O3lolal Wed| 7y 4,800 0




